Vapor Pressure [5]

Vapor Pressure of Argon
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Modified Clausius-Clapeyron Equation:

In£=T—°(At+ Bt"® +Ct*+Dt*°)
P T
t=(1-T/T.)
P = vapor pressure in bar
T = temperature in K
T., P. = 150.687K, 48.63 bar
forT, <T<T., A=-59409785 B=13553888 C=-046497607 D=-15399043

Density [5]

Polynomial approximant:

In PLiouip — At*¥ Bt 4 Ct™° + Dt
Pc

t=1-T/T.)
Puoup = density in g/cm®
T = temperature in K
T., p. =150.687K, 0.5356 g/cm®
forT, <T< T., A=15004262, B=-0.31381290, C=0.086461622 D =-0.041477525



